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Qz. In a car battery, electrolyte substance used is-

FR Sl #, mmwﬁmmﬁmmh
(a) Hydrochloric acid(ﬂ%@%ﬂﬁ? tfas)

(b) Sulphuric acid(@l?qril;ﬂﬂ? vias)
\/ N4 S0u
(c) Nitric acid(sIT8f¢h THAS)

=

(d) Distilled water(3T{d STel)



Q2. The energy, found in dry cell is-
U RPHT A IS AT Tl Foll o

@
(a) Mechanic(Ha 1)

(b) Electric(TSsTell)

(c) Chemical XT&TATAR) v~

(d) EIectromagnetic(ﬁC\gdgqc'oTéI)



Q3. A pungent smell often present near the urinals is due to-

%Tﬂ?ﬂ@ﬂﬁﬂ?w arell T il ey FEd FROT Fedl

(a) Sulphur-di-oxide(Fe®Y SEATFHSS)

(b) Chlorine(FelRIT)
. e 0
(c)Ammonla(H?Tﬁl'il} &/} ;_ya%

) Urea(zlﬁ'JT)



Q4. Which chemical substance is used for making rat poison?

e AR FT ST} 9o & Qv FE T ey ST 39T
ﬁTEITEIﬁT%? Zinc Phosphide

/

(a) Ethyl Alcohol(TTdel 3Teahigd)

(b) Methyl Isocyanate(TRUTSS ATSHIESAC)

(c) Potassium Cyanide(dTeTITs HISA1S3)
A (.C M)

(d) Ethyl Isocyanide(SUTSel SHIHSAISS)




Qs. Which gas is used in fire extinguisher?

AMHF H FHiT & AT F1 39T FIAT FATAT 22

(y Carbon dioxide(TssT SISITFHSS)
4 "

(b) Hydrogen(8TS3ITaT)
e
(c) Oxygen(3TTaaTSTeT)

(d) Sulphur dioxide(Te® SIS3TFHISS)




Q6. Which one of the followin_\g Is used in the manufacture of soaps?

e & AT 7 @A F § Sl @1 g3 G Jer 82

(a) Vegetable oil(de1¥ qia d\ok\)/ + Animal Fak

+ Canfic

(b) Mobil oil (@ISl del ) edo

\NE O‘\\>

(c) Kerosene oil(@'cff ol (-I\(»{) (o\/

(d) Cutting oil(heTeaT ddl)




Q7. Milk openly placed for sometime becomes sour due to-
P F6 AT ¥ AT T B15A W 98 T 81 ATl g T
%a% HROT gl 872

(a) Carbonic acid(hTaifaieh TTH3)

(b) Lactic acid(gaemeel). =~ —~ Suge®

(c) Citric acid({-ll$l?,co U%I?I) \”00/1

(d) Acetic acid(FAIaRT 315 | actobacillus




Q8. Which one of the following substances is used in the
preservation of food stuff?
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(a) Citric Acid(@T3Teesh TiaS)

(b) Potassium Chloride(9Te I FelilSs)

(c) Sodium Benzoate(dlTS3e éioﬂk’c)
v % NalGRsOa
P T

(d) Sodium Chloride(@3TH FellXIS3)




Qg. Which one of the following gases, released from biogas plant is
used as a fuel gas?

et 3T A ¥ uF, S TR §9T @ Aead §, $UT AW F
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€) Butane(sgéo-l)

(b) Propane(9Td=)

(c) Methane(ﬂ?fl?-\\%
(d) Ethane(TcsT)



Qi1o0. Which of the foIIowing Is a fossil fuel?

SN A HIF AT AT U §7?
(a) Alcohol(]RTH)
(b) Ether(32R)

(c) Water gas(STeT 319)

(d) Natural gas(Hldgfaco 3

X



Qa1. The advantage of detergents over soaps is —

| ¥ f3esie @1 amer 8-
(a) detergents are soluble in water (f3esic drer | %ﬂﬁ%ﬁ?«r gidr %f.)

(b) detergents could not give much lather (f3esic 318 SIT9T T8l ¢ Hahdl.)

é%_[c\lg;rgents give lather even with hard water (f3csic @R 9t & 1 STTaT

éch_)lTsoaps give lather with only soft water (HT[s] hdol IH Ul o 1Y SATET

£)



Q12.Th df tificial fruit ri ' f fruitis —
g_gzw eq%ascuse Q;)C:'aé'l icia I’;;I %P;nmgo grﬁ%gﬁﬁ N
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(a) Nepthalene (sICelleT)

(b) Acetylene (Q‘f?%@?—r\)//
(c) Ethane (327)
(d) Methane (F197)




Qa3. Tetra Ethyl Lead (TEL) is used as- ‘
eer sfae g (NEud) &1 v fFg ¥ & fFar Srar 82

g) a catalyst in burning fossil fuel (STTAT2H ST FI STelled H Teh 3cURh o &I
)

(b) an antioxidant (Teh TerFHse & &9 H)

(c) a reluctant (Ueh 3-||ro\-|b§»ch & 7 H)

@/an antiknock compound (Teh k’é\@yﬁﬁlﬁ'ﬂaﬁf@q; $ &7 H)
o7




Q14. Detergents clean surfaces on the principle of —

fSesic g 9T §dg 1 AFE AT §.
(a) Viscosity (ELIEEIEG)

(9) Surface tension (Fdgl clo-l\\ly/
(c) Elasticity (el1<r)

(d) Floatation (Hclcflo-l)



Q15. The element which is used for Vulcanising rubber -

dcd forgT YA e @Y & T &Far Smar § -
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(a) Sulphur (8 ?th)/

(b) Bromine (slTT&=T)

(¢) Silicon (A feleie)

(d) Phosphorus (BTERIRY)



Q16. Pollutant from motor car exhaust that causes mental disease is -

AT R AT @ ST ATATA® AT FT FROT d9dT ¢-
LALD
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(b) NO2

(c) SO2

(c)Rple



Qa7.The ozone layer is present in —

ol T R & Al Brelt 82
(a) Troposphere (ZTIIEHIR)

(b) lonosphere (FTIAITHIAR)

(c) Stratosphere (Q—‘E‘c"lﬁmT\)//
(d) Exosphere (TFHIFHIRR)



Qi18. The two metal ions that cause hardness to water are -

&l 9T ATIT A 9Tl H FORAT F FROT 3 o-

(JyCaIcium and Magnesium (hTeRIIH 3R HIA1TRIT#)

Bicatbonate, Chlovide, Sienide

(b) Sodium and Calcium (@23Ta 3R heRIH)
(c) Sodium and Potassium (EIfSTH 3R GICiRITH)

(d) Sodium and Magnesium (FITSTH 3R HIARITH)
TT\gl Ca + Bicosbonade 7 Tem poxoxj Haxdnerd

W + Ch[Sol = Pexmdnent



Qa9. Beryllium Sulphate is less soluble in water due to ?

(a)High inflammable energi\y/

(b) Low Energy of dissociation
(c) Low inflammable energy

(d) ionic band

........




Q20. What is the name of that system which uses radioactivity to decide the
[] [ [ [ f
period of materials of pre his tone period ?

(a) Radium dating
(b) Uranium dating

(c) Carbon dati:g/

(d) Deuterium dating



Q3. Cement is made hard with

€) dehydration/

(b) hydration and dissociation of water

-

(c) Dissociation of water

o~

(e)) Polymerisatiorl/




Q4. What happens when a chemical bond is formed ?

Y

(a) energy is always absorbe(\:l/

@energy in always reIeasecEI/

(c) more energy is released than is absorbed

(d) energy is neither released nor absorbed

D



Q5. Which among the followingis a carbohydrate ?

(@) Nylon

(b) Cane sugy
I

(c) Turpentine

(d) Hydrogen peroxide



Q6. In which of the following states maximum iron ore is found ?

(a) FeCo3

(b) Fe203 o 20 v/’
\\% Co03 @é,\

oSS

=

(c) Fe304

........

(d) FeS2



Q7. Which one of the following metals pollutes the air of a city having large
number of automobiles?

(a) Cadmium
(b) Chromium

(c) Lead %

(d) Copper




Q8. What is the Chemical name for bakingjoda?

(a) Sodium carbonate

(b) Sodium bicarbonate ~ NalC03

-/__-

——

(c) Sodium nitrite

(d) Sodium nitrate




Q9. An atomic pile is used for

ap—

(a) producing X rays

X

(b) conducting nuclear fission \%

(c) conducting thermonuclear fusion

'S

(d) accelerating atorr\1s)<




Qi10. Which of the following gases is present under pressure in soft drinks?

———

(a) Oxygen
(b) Nitrogen

(c) Carbon dioxide\\//

(d) Nitrous oxide




Qi1. The substance which does not expand on going from liquid state to solid
state is

(a) Water
(b) Castiron

(c) Aluminium /Q(\)(

........

(d) Type metei\l//




Q2. heart pacemakers is

(a) Uranium

(b) Deuterium

(c) Plutonium

(d) Radium




Q13. The element which is commonly used in nuclear for producing electricity by
nuclear fissionis

(a) Radium
(b) Plutonium
(c) Uranium

(d) Deuterium




Q4. Table salt gets moist during rainy season because

(a) sodium chloride is hygroscopic

(b) sodium chloride is deliquescent

(c) sodium chloride contains some quantity of sodium iodide

(d) sodium chloride contains hygroscopic impurities like magnesium chloride



Qa5. Which of the following is used as a lubricant in heavy machines?
(a) Bauxite
(b) Sulphur

(c) Phosphorus

(d) Graphite




Q16. The anode in a dry cell consists of

(a) Copper

(b) Zinc

(c) Cadmium

(d) Graphite




Qa7. Which of the following is used to iodine common salt ?

(a) Potassium iodide

(b) lodine

(c) Potassium iodide

(d) Sodium iodide




Q8. Milk is a colloidal system in which:

(@) Water is dispersed in fat

(b) Fat is dispersed in water

(c) Fat and water are dispersed in each other

(d) Fat is dissolved




* Q19. The enzyme that converts glucose to ethyl alcohol is :

* (a) Invertase
 (b) Maltase
* (c) Zymase
* (d) Diastase




* Q2o0. Silk fibre chemically is:
* (a) Carbohydrate

 (b) Fat

* (c) Protein

¢ (d) Cellulose




* Q21. Who developed Hydrogen Bomb?

* (a) Werner Von Braun

* (b) J. Robert Oppen Heimer
* (c) Edward Teller

 (d) Samuel Cohen




* Q22. When there are two electrons in the same orbital they have:
* (@) same spin

* (b) opposite spin

* (c) same or opposite spin

* (d) no spin




* Q23. Galvanization is the:

* (a) deposition of zinc on iron

* (b) deposition of tin on Iron

* (c) deposition of copper on iron

* (d) deposition of aluminum on iron




* Q24. Fermentation of milk to curd is due to:

* (a) Mycobacterium
* (b) Staphylococcus

* (c) Lactobacillus
* (d) Yeasts




* Q25. By which organic compound all the oils arc known ?
* (a) Carbohydrate

* (b) Protein

* (c) Hydrocarbon

e (d) Ester




* Q26. The atomic number of carbon is 6 and its atomic mass is How many are
there protons in the nucleus of carbon?

* (2)6

e (b)12

* (c) 18
 (d) Zero




* Q27. Who developed atom bomb ?

* (a) Warner Wan Brown
* (b) J. Robert Open heimer
* (c) Edward Taylor

 (d) Samuel Koehen




* Q28. The major harmful gas emitted by automobile vehicle which causes
air pollutioniis

* (a) Carbon Monoxide
* (b) Methane

* (c) Carbon dioxide

* (d) Ozone gas




* Q29. The add used in lead storage cells is

* (a) phosphoric acid
* (b) hydrochloric acid
* (c) nitric acid

* (d) sulphuric acid




* Q30. Milk tastes sour when kept in the open for sometime due to the formation
of .

* (a) lactic acid

* (b) citric acid

* (c) acetic acid

* (d) carbonic acid




* Q31. What is the most commonly used Substance in fluorescent tubes?
* (a) Sodium oxide and argon

* (b) Sodium vapour and neon

* (c) Mercury vapour and argon

* (d) Mercury oxide and neonv




* What is "milk of magnesia” chemically ?
* (a) Magnesium carbonate

 (b) Sodium bicarbonate

* (c) Calcium hydroxide

* (d) Magnesium hydroxide




* Q33. Bronze is an alloy of

* (a) Copper and Zinc
e (b) Tinand Zinc
* (c) Copper andTin

* (d) Iron and Zinc




* Q34. The natural source of hydrocarbon is
* (a) Crude oil

 (b) Biomass

¢ (c) Coal

* (d) Carbohydrates




* Q35. Which of the following is chiefly present in LPG (Liquefied Petroleum Gas)?

* (a) Methane
 (b) Ethane

* (c) Propane
* (d) Butane




* Q36. Which one of the following metals is used to galvanise iron?

* (a) Copper
* (b) Lead

* (¢c) ZIinc

* (d) Mercury




* Q37. Which of the following is not a precious semiprecious stone?

* (a) Sapphire
* (b) Ruby
* (c) Pearl
* (d) Emerald




* Which among the following metals provides atmospheric oxide?

* (a) Sodium

* (b) Silver

* (c) Aluminium
e (d) Calcium




* Q39. Humburger effect is otherwise known as

* (a) Sodium pump
* (b) Anaerobic metabolism
* (c) Choloride shift

* (d) Respiratory product




* Which among the following elements is found in maximum percentage in the
human body ?

* (a) Carbon

* (b) Hydrogen
* (c) Nitrogen
* (d) Oxygen




* Q41. Which among the following stage is suitable indicator when solution of
sodium carbonate is mixed with

* sulphuric acid ?

* (a) Methylene blue
* (b) Methyl red

* (c) Phenolphthaline
* (d) Methyl orange




* Q42. Which among the followingis pure matter ?

* (a) Carbondioxide
* (b) Brass

* (c) Air

* (d) Iron




* Q43. Which among the following coal contains 9o percent of carbon?

 (a) Anthracite
* (b) Bitumen

* (c) Lignite

* (d) Peat




* Q44. Bauxite is an alloy of which of the following metals ?

* (a) Aluminium
* (b) Silver

* (¢) Tin

* (d) Iron




* Q45. Nucleus of an atom consists of

e (a) Proton

 (b) Neutron

e (c) Proton and Neutron

* (d) Electron Proton and Neutron




Q46. Milk of Magnesia is a suspension of :

(@) magnesium sulphate

(b) magnesium carbonate

(c) magnesium hydroxide

(d) magnesium chloride



Q47. Quartz is made of

(a) Calcium Sulphate

(b) Calcium Silicate

(c) Sodium Sulphate

(d) Sodium Silicate



Which of the following is ozone depleting pesticide ?

(a) D.D.T.
(b) Benzene

(c) Methyl bromide

(d) Ethylene ozonide



Q49. Galvanised iron is made by coating iron with

(a) Zinc

(b) Nickel

(c) Chromium

(d) Sulphur




Qso. Which is abundant in Gobar gas?

(a) Carbon dioxide

(b) Methane

(c) Oxygen

(d) Hydrogen
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